e Cata"’;”“ o wEg D | T|L | A|B |di|d|C Do|t|¢]| HEFL

10, 39 |28 |64 | 22 | 18 23 | 23 465

LTW (zhL—P) 12 | (00942 180 |66 |24 | 20 |45 | 8 | 25| 25 48 | M4x50

LTWB(r>o-) 16 | 48 |34 [ 80 [ 31 | 22 32| . [585

AF L ANTY LT 20 54 [38 |90 [36 [24 | | | 40[36 66 | M5x60

MLTW (zrL—R) 25 | 1010621 46 [127] 40 | 32 : : 44 93 | M5x100

MLTWB (1>o-) 30| 74 | 51 [136]49 [ 35 [66 | 11 | 50 | 50 100| M6x100
40 |8 012| 96 |70 [170 | 64 | 45 [99 | 14| 89 |68 | 7 [125] M8x100

o | EREREE HE (ke) £ X Catalog No. |

C(&h) Co(g%) | ARL—k | 12O— LTW30

10 588 1,100 0.2 0.19

12 815 1,570 0.2 0.19

16 | 1,230 | 2350 0.3 0.29

20 | 1400 | 2740 0.4 0.39

25 | 1,560 | 3,140 0.8 0.79

30 | 2490 | 5,490 1.1 1.08

40 | 3,430 | 8,040 2.8 2.76

75




